Wednesday 6:45 pm Double Decker Lanes Lanes 33 - 50

Payment History for The Chuckers:

| | Wkly | WKly | Team | Total | Ending |
|--------|----------|-----------|------|----------|----------|
| Week _ | Fees Due | Fees Paid | Fine | Paid | Balance |
| 1 | \$84.00 | \$76.00 | | \$76.00 | \$-8.00 |
| 2 | \$84.00 | \$102.00 | | \$102.00 | \$10.00 |
| 3 | \$84.00 | \$82.00 | | \$82.00 | \$8.00 |
| 4 | \$84.00 | \$41.00 | | \$41.00 | \$-35.00 |
| 5 | \$84.00 | \$81.00 | | \$81.00 | \$-38.00 |
| 6 | \$84.00 | \$103.00 | | \$103.00 | \$-19.00 |
| 7 | \$84.00 | \$84.00 | | \$84.00 | \$-19.00 |
| 8 | \$84.00 | \$84.00 | | \$84.00 | \$-19.00 |
| 9 | \$84.00 | \$88.00 | | \$88.00 | \$-15.00 |
| 10 | \$84.00 | \$104.00 | | \$104.00 | \$5.00 |
| 11 | \$84.00 | \$83.00 | | \$83.00 | \$4.00 |
| 12 | \$84.00 | \$63.00 | | \$63.00 | \$-17.00 |
| 13 | \$84.00 | \$105.00 | | \$105.00 | \$4.00 |
| 14 | \$84.00 | \$63.00 | | \$63.00 | \$-17.00 |
| 15 | \$84.00 | \$84.00 | | \$84.00 | \$-17.00 |
| 16 | \$84.00 | \$105.00 | | \$105.00 | \$4.00 |
| 17 | \$84.00 | \$84.00 | | \$84.00 | \$4.00 |
| 18 | \$84.00 | \$63.00 | | \$63.00 | \$-17.00 |
| 19 | \$84.00 | \$105.00 | | \$105.00 | \$4.00 |
| 20 | \$84.00 | \$63.00 | | \$63.00 | \$-17.00 |
| 21 | \$84.00 | \$84.00 | | \$84.00 | \$-17.00 |
| 22 | \$84.00 | \$184.00 | | \$184.00 | \$83.00 |
| 23 | \$84.00 | \$25.00 | | \$25.00 | \$24.00 |
| 24 | \$84.00 | \$62.00 | | \$62.00 | \$2.00 |

Payment History for Tim Lewallen:

| Week | Wkly Fees Due | WKly Fees Paid | Cert Fees | Total Paid | Ending Balance |
|------|------------------|-------------------|--------------|---------------|-------------------|
| 1 | \$21.00 | \$27.00 | \$23.00 | \$27.00 | \$6.00 |
| 2 | \$21.00 | \$20.00 | | \$20.00 | \$5.00 |
| 3 | \$21.00 | \$20.00 | | \$20.00 | \$4.00 |
| 4 | \$21.00 | | | | \$-17.00 |
| 5 | \$21.00 | \$40.00 | | \$40.00 | \$2.00 |
| 6 | \$21.00 | \$20.00 | | \$20.00 | \$1.00 |
| 7 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 8 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 9 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 10 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 11 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 12 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 13 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 14 | \$21.00 | | | | \$-20.00 |

| <u>Week</u> | Wkly | WKly | Cert | Total | Ending |
|-------------|----------|-----------|---------|-------------|---------|
| | Fees Due | Fees Paid | Fees | <u>Paid</u> | Balance |
| 15 | \$21.00 | \$42.00 | | \$42.00 | \$1.00 |
| 16 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 17 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 18 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 19 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 20 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 21 | \$21.00 | \$21.00 | Ф00.00 | \$21.00 | \$1.00 |
| 22 | \$21.00 | \$21.00 | | \$21.00 | \$1.00 |
| 23 | \$21.00 | \$25.00 | | \$25.00 | \$5.00 |
| 24 | \$21.00 | \$20.00 | | \$20.00 | \$4.00 |
| TOTAL | \$504.00 | \$508.00 | \$23.00 | \$508.00 | \$4.00 |

Payment History for Tammy L. Kummer:

| | Wkly | WKly | Cert | Total | Ending |
|-------|----------|-----------|---------|----------|----------|
| Week | Fees Due | Fees Paid | Fees | Paid | Balance |
| 1 | \$21.00 | \$22.00 | \$23.00 | \$22.00 | \$1.00 |
| 2 | \$21.00 | \$20.00 | | \$20.00 | |
| 3 | \$21.00 | \$21.00 | | \$21.00 | |
| 4 | \$21.00 | | | | \$-21.00 |
| 5 | \$21.00 | | | | \$-42.00 |
| 6 | \$21.00 | \$41.00 | | \$41.00 | \$-22.00 |
| 7 | \$21.00 | \$21.00 | | \$21.00 | \$-22.00 |
| 8 | \$21.00 | \$21.00 | | \$21.00 | \$-22.00 |
| 9 | \$21.00 | \$42.00 | | \$42.00 | \$-1.00 |
| 10 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 11 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 12 | \$21.00 | | | | \$-22.00 |
| 13 | \$21.00 | \$42.00 | | \$42.00 | \$-1.00 |
| 14 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 15 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 16 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 17 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 18 | \$21.00 | | | | \$-22.00 |
| 19 | \$21.00 | \$42.00 | | \$42.00 | \$-1.00 |
| 20 | \$21.00 | \$21.00 | | \$21.00 | \$-1.00 |
| 21 | \$21.00 | | | | \$-22.00 |
| 22 | \$21.00 | \$42.00 | | \$42.00 | \$-1.00 |
| 23 | \$21.00 | | | | \$-22.00 |
| 24 | \$21.00 | \$42.00 | | \$42.00 | \$-1.00 |
| TOTAL | \$504.00 | \$503.00 | \$23.00 | \$503.00 | \$-1.00 |

Payment History for Brian A. Wibben:

Payment History for Tyler A. Hunt:

| | Wkly | WKly | Cert | Total | Ending |
|-------------|----------|-----------|-------------|-------------|----------|
| <u>Week</u> | Fees Due | Fees Paid | <u>Fees</u> | <u>Paid</u> | Balance |
| 1 | \$21.00 | | | | \$-21.00 |
| 2 | \$21.00 | \$42.00 | \$23.00 | \$42.00 | |
| 3 | \$21.00 | \$21.00 | | \$21.00 | |
| 4 | \$21.00 | \$21.00 | | \$21.00 | |
| 5 | \$21.00 | \$21.00 | | \$21.00 | |
| 6 | \$21.00 | \$21.00 | | \$21.00 | |
| 7 | \$21.00 | \$21.00 | | \$21.00 | |
| 8 | \$21.00 | \$21.00 | | \$21.00 | |
| 9 | \$21.00 | | | | \$-21.00 |
| 10 | \$21.00 | \$42.00 | | \$42.00 | |
| 11 | \$21.00 | \$21.00 | | \$21.00 | |
| 12 | \$21.00 | \$21.00 | | \$21.00 | |
| 13 | \$21.00 | \$21.00 | | \$21.00 | |
| 14 | \$21.00 | \$21.00 | | \$21.00 | |
| 15 | \$21.00 | | | | \$-21.00 |
| 16 | \$21.00 | \$42.00 | | \$42.00 | |
| 17 | \$21.00 | \$21.00 | | \$21.00 | |
| 18 | \$21.00 | \$21.00 | | \$21.00 | |
| 19 | \$21.00 | \$21.00 | | \$21.00 | |
| | | | | | |

| <u>Week</u> | Wkly Fees Due | WKly Fees Paid | Cert Fees | Total <u>Paid</u> | Ending Balance |
|----------------|-------------------------------|--------------------|--------------|----------------------|-------------------|
| 20 | \$21.00 | | | | \$-21.00 |
| 21 22 23 | \$21.00 \$21.00 \$21.00 | \$42.00 \$21.00 | | \$42.00 \$21.00 | \$-21.00 |
| 24 | \$21.00 | | | | \$-42.00 |
| TOTAL | \$504.00 | \$462.00 | \$23.00 | \$462.00 | \$-42.00 |